
 55791
   QX 56 

  

1 PC MESH SERIES BUMPER - POLISHED 

Recommended Tools:

04-10 INFINITI

 55791
   QX 56 
04-10 INFINITI

  Parts List / Hardware: 
3/8 Wrench or Nut Driver 1 Mesh Insert  2 #8 x 1” Screws (#6 Head) 
Phillips 2 Raised Extension Brackets 2 #8 U-Nuts  
 4 6-32 Nylon Lock Nuts 2 ¾” J Hooks   
    
    
 

Read and understand instructions before attempting installation  
 

Step 1 
Open the hood and test fit the grille in place. Remove the grille and attach the raised extension brackets as 
shown (1). BE SURE NOT OVER-TIGHTEN THE STUDS (Over-tightening can cause dimpling to the face 
of the billets). 
 
Step 2  
Slide the u-nuts onto the J hooks. Secure the J hooks to the extension brackets with the screws (Do not 
tighten). Re-center the grille in place; wrap the hooks around the vertical plastic bars in the opening (2). 
Carefully tighten the mounting screws (3). It may be necessary to slightly bend the extension brackets so 
they can allow tension to the J hooks. Thank you for purchasing your T-Rex billet grille. 1/26/08 
 
 
 
  
 

1 2 3 


